1.  See Practice Exam.  Gilbarco is the leading manufacturer of retail gasoline dispensers in the United States with a market share of about fifty percent.  Three other companies also make retail gasoline dispensers.  Gilbarco, and each of its competitors, sells through petroleum equipment distributors who sell hundreds of items and parts used at retail service stations.  Each of the four manufacturers of retail gasoline dispensers has an exclusive dealing policy with its distributors and each manufacturer assigns only one distributor to each metropolitan area.

 Would these facts suggest business practices leading to a non-competitive equiibrium?  Is there an efficiency justification? 

2.  The FTC recently accused Toys R Us of using its buying power to stifle competition from low-priced warehouse chains such as Price-Costco.  Toys R Us has a twenty percent share of retail toys sales.  Toys R Us told manufacturers that it has an unquestionable right to refuse to carry the same items as warehouse clubs.  

a.  Provide an efficiency based justification for the Toys R Us policy of not carrying the same products as available at the warehouse chains.
Toys R Us carries toys all year and generates Christmas demand by having kids and parents inspect and play with the toys.  The sales throughout the year at Toys R Us also indicates the “hot” toys which are only a very small percentage of all new toys.  Costco then stocks the “hot” toys at Christmas essentially free riding on Toys R Us’s efforts through the rest of the year.  (About 80% of all toys are sold for Christmas.)   

b.  Provide a anticompetitive explanation for the Toys R Us policy.
Costco has lower cost than Toys R Us, but Toys R Us sells many more toys than Costco.  Toys R Us uses its market power as a buyer to prevent the competition of Costco. 
c.  What (hypothetical) facts would distinguish between your explanations?

Does Toy R Us offer a site for toy inspection?  Are the majority of toy sales profits for Toy R Us from a few “hot” items?  Are these the items carried by Costco?  What share of the market for toy sales has Toys R Us?   

3.  See Practice Exam.  In Anchorage, Alaska ALAGCO (Alaska aggregate Company) produces 80 percent of the gravel in the area.  The remaining gravel is produced by the city and the state for their own use (15%) and by Wilder Paving (5%) which they use in making asphalt mix for paving.  Wilder has the only modern asphalt plant in the area.  Wilder buys about three times as much gravel from ALAGCO than they produce.  ALAGCO is considering buying Wilder.

a.  Discuss how would you expect the Government to evaluate the likely competitive impact of the purchase.

b.  Discuss the relevance of the various facts outlined above to an evaluation of the likely competitive impact of the purchase.

4.  See Practice Exam.  The manufacturers of prescription pharmaceuticals have recently been sued for violating both the Robinson Patman Amendment to the Clayton Act and Section 1 of the Sherman Act.

The practice at issue concerns the pricing of prescription drugs for out-patient use to HMOs and to mail order sellers.  The HMOs and mail orders deal almost exclusively with insured customers.  The mail order companies also act as benefit consultants to the insurers regarding covered drugs, deductibles and copayments.  The HMOs and the mail orders have gotten lower prices by threatening to exclude a particular drug (where there are close therapeutic substitutes) from their formulary.  The amount of the discrimination is about twenty percent of the retail pharmacies’ cost of acquisition.

a.  The Robinson Patman Amendment to the Clayton Act requires that there be an injury to competition for there to be a violation.  Has competition been injured in this instance?  What do you mean by an injury to competition?  If there has been an injury to competition, explain how.

b.  If the discrimination is ended, what do you expect to happen to the prices charged to the mail orders and to the retailers?  What do you expect to happen to the total consumption of prescription drugs?  Is efficiency enhanced by the discrimination?  (Consider who are the elastic and the inelastic buyers and how their consumptions should change.)

c.  Under case law, the damage to the retailers is limited to the difference in their expected profit with and without the discrimination.  If the retailing of prescription drugs is "competitive", will there be any damages?

5.  Retail demand for Whizbangs is given by

    P  10  9  8  7  6  5  4

    Q   1  2  4  6  8  9  10

There is a zero marginal cost of retailing and of producing whizbangs.  You have a monopoly in production; Joe is the only retailer.

    a.  Your profit maximizing price is ______________.  The MR for Joe is the demand for manufacturer.
    b.  Your profit maximizing quantity is ____________.

    c.  If you can set a maximum retail price for Joe to charge 

    it would be ___________.Set the maximum price at the point where MR retail is just positive.  The manufacturer price will now determine the split of the maximum joint profit between the manufacturer and the retailer.
Imitation Whizbangs now appear on the market.  They sell at wholesale for 2.  They fall apart as soon as they get home and the disgruntled consumers buying the fake Whizbangs will never buy Whizbangs again.  Satisfied purchasers will however continue to buy each period per the demand schedule.  The per period interest rate is 50%. 

    d. If you cannot control the retailer, what price should you set for whizbangs?  You must a price such that the profit from the real whizbang is half or more that from selling the fake at its most profitable price.
    e.  If you could impose resale price control, you would have an incentive to

    set a maximum resale price?  Yes as in c. but set your price to satisfy the rule in d.  A minimum resale price?  Yes - this will limit the profit from the fake and allow a more profitable manufacturer price.
    h.  If you could set a minimum retail price, that price would be ___________.

    i.  Your wholesale price would then be ____________.

6.  See Practice Exam.  The merger guidelines of the Department of Justice and the Federal Trade Commission set out the standard used in defining a relevant market for most antitrust purposes.  The standard expands the product and the geographical market until a "hypothetical monopolist controlling all of the proposed market could profitably raise price significantly above the competitive level."  A significant price increase is defined in the guidelines as an increase of 5 percent.

     Use the Dominant Firm Model to evaluate what the minimal changes in the market share of a dominant firm would need to be to lead to a 5 percent price increase.

     The Merger Guidelines also note that a merger in which the post-merger HHI is above 1800 (highly concentrated) and the change in the HHI from the merger is 50 or greater will be opposed by the agencies.  Is that rule consistent with you analysis above?

